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SECTION -A

i) General Awareness

World Development Report is issued by 6. Which of the following is incorrect of
IMF B) World Bank their formulation ?
(A) (B kverdiBa (A) Wildiife Conservation Act — 1972
(C) WHO (D) UNDP (B) Project Tiger — 1973
Read the following statements. (g) EFOJ_GCt Elephgmt— 1_992A -
1. During 1951 India’s literacy was 18%. 12 .nVIr.oanlent folection Act= ?8
2. 2011 census female literacy is 65.46. 7. Atal Bihari Vajapayee, had beena Prime
: Minister for
3. 2018 - 19 budget aHOOCEit!OH for (A) One time (B) Two times
education is neariy 3.5% of GDP. (C) Three times (D) Four times
seicch lupligiansiies 8. Consider the following statements about
(A) Only 3 (B) 1and2 pulses cultivation.
(C) Allthe above (D) 2 only 1. Need less moisture.
, o o 2. Can survive in dry condition.
tool of money supply used by the RBI ? import.
(A) Bank rate Select the correct answer.
(B) Repo rate (A) Only 1 (B) Only 3
(C) Open market operation (C) 1and2 (D) 1and3
(D) Margin requirement 9. Which one of the following places in
) o India receives the lowest rainfall ?
Which of the following is/are example/s (A) Ran of Kuchch
for money ? (B) Vidharba region
1. Currency notes and coins (C) Ladakh
2. Savings account deposits (D) Jaisalmar
3. Time deposits 10. Guijjars, a pastoral community, are
4. Current account deposits associated with which one of the
(A) Gujarat
(A) Only 1 (B) 2,3and4 (B) Rajasthan
(C) All the above (D)-1,2and4 (C) Jammu and Kashmir
' ‘ ‘ (D) Sikkim
Wh'CZ.Of theellfo![oxlwln% St,? ISMERLSISHLE 11. Total gold medal bagged by India in the
[egatoingiallVIale s - recently held ASIAD 2018 is
1. ltis rich in nitrogen. (A) 14 (B) 15
2. Not ideal for.sugarcane cultivation. (C) 16 (D) 17
3. Alluvialtracks areintensively cultivated | 12. Ranapratab Sagar Hydroelectric Plant is in
and densely populated in India. (A) Uttarakhand
Select the correct answer. (B) Himachal Pradesh
(A) Only 1 (B) Only 2 (C) Rajasthan
(C) Only 3 (D) All the above (D) Punjab
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13. Match List — 1 with List — Il and select

14.

15.

16.

the correct answer using the code given
below the Lists.

Minerals Mine
1. Zinc — a. Amjhore
2. Gold — b. Sukinda
3. Chromite — €. Zawar
4. Pyrite — d. Hutti
Codes :
(A) 1-a 2-b 4-c 3-d
(B) 83-a 2-b 4-¢ 1-d
(C) 3-a 4-b 2-c¢ 1-d
(D) 1-a 4-b 2-c¢ 3-d

As per Census 2011, which one of the
following is the correct descending
order of States in India is respect of sex
ratio [female per thousand of males] ?
(A) West Bengal>Madhya Pradesh>
Uttarakhand > Jammu and Kashmir
Madhya Pradesh > West Bengal >
Jammu and Kashmir > Uttarakhand
Uttarakhand > West Bengal > Madhya
Pradesh > Jammu and Kashmir

West Bengal > Uttarakhand > Madhya
Pradesh > Jammu and Kashmir

(B)
(C)

(D)

‘SAMPRITI—2017 is a joint military exercise
between armed forces of India and

(A) Bhutan (B) Bangladesh
(C) Pakistan (D) Myanmar

Infrared, visible and ultraviolet radiations/
light have different properties. Which
one of the following statements related
to these radiations/light is not correct ?
(A) The wavelength-of infrared is more
than that of ultraviolet radiation.
The wavelength of ultraviolet is
smaller than that of visible light.
The photon.energy of visible light
is more than that of infrared light.
The photon energy of ultraviolet is
lesser than that of visible light.

(B)
(©)

(D)

g 57

18.

19:

20.

MKG-XI/TECHDST/17 rresners NOw

When the sun is near the horizon during
the morning or evening, it appears
reddish. The phenomenon that is
responsible for this observation is

(A) reflection of light

(B) refraction of light

(C) dispersion of light

(D) scattering of light

Find incorrect statement(s) about light
and optics.

1. Due to reflection of light, the sun
is visible a little before the actual
sunrise and untiil a little after the
actual sunset due to refraction of
light-through the atmosphere.

2. Mirages are creates by total internal
reflection of light between layers of
hot air.

3. An observer can see a rainbow only
when the sun is at 90 degrees to
his shoulder.

Select the correct answer.

(A) Only 1 and 2
(B) Only 2 and 3
(C) Only 2
(D) 1and3

Sound waves cannot travel through a

(A) Copper wire placed in air

(B) Silver slab placed in air

(C) Glass prism placed in water

(D) Wooden hollow pipe loaded in a
vacuum

Ultrasonic waves are produced by

making use of

(A) ferromagnetic material

(B) ferrimagnetic material

(C) piezoelectric material

(D) pyroelectrical material
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14.

15.

16.

T -1 0t gE=ft - 11§ gy oi 4R &

Hﬁﬁﬁ@mmmgaﬁmﬂﬁm
0T @weH

1. ﬁa? ~ a. IR
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3. I — . S
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Fe

(A) 1-a 2-b 4-c¢c 3-d

(B) 3-a 2-b 4-¢ 1-d

(C) 3—-a 4-b 2-¢ 1-d

(D) 1—-a 4-b 2-c¢c 3-d
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1 Bl 2

17.

18.

19.

20.
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i) General Intelligence and Reasoning Ability

A, B and C are three mountaineers.
Ais B's brother. Biis C’s brother. C is not

A’s brother. Therefore C is A's sister.
(A) False

(B) Probably false

(C) True

(D) Can't say

Statements :
I. |surfinternet only when | am bored.

Il. 1 am never bored when | have my

friend’s company.

Ill. Whenever | go for holiday, | take’

my friends along.

Choose the conclusion which logically

follows the statements.
(A) If | am bored, | surfinternet.

If | am not bored, | do not surf

(B)

internet,

(C) If I am not with my friend, | surf
internet.

(D) If 1l am bored, | go for holiday.

23.

24,

Statement : Incessant rain for the past
several days has posed the problem of
overflowing and flood as the river bed
is full of silt and mud.

Courses of action :

I. The people residing near the river
should be shifted to safe place.

Il. The people should be made aware
about the danger through media.

I1l. The silt and mud from the river bed
should be cleared from the river
bed immediately after receding of
the water level.

Which of the following follows ?
(A) Only | and Il follows

(B) Only Il and I follows

(C) None follows

(D) All follows

Statement : “If you want to study
management, join institute X" — A's
advice to B.

Assumptions :
|. B listens to A’s advice.

Il. Institute ‘X’ provides good
management education.

Which of the following assumptions are
implicit ?

(A) Only | is implicit

(B) Either | or Il is implicit

(C) Neither | nor Il is implicit

(D) Both | and Il are implicit
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ii) T g g qen arfeher Frad
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25. Statement : Should school education

26.

21

be made free 7
Arguments :

l. Yes, this is the only way to improve
the level of literacy.

II. No, it will be a burden to the
exchequer.

Which of the following is a strong
argument ?

(A) Only | is strong

(B) Only Il is strong

(C) Either | or Il is strong
(D) Both | and Il are strong

Statement :
Some hens are cows.
All cows are horses.
Conclusions :

I. Some horses are hens.
Il All hens are horses.

Which of the following definitely follows 2.

(A) Only | follows

(B) Only Il follows

(C) Either | or Il follows
(D) Neither | nor |l follows

When the paper below-marked with
letters and numbers are folded, what
will be opposite to 0 7

L
N| M| 2
1|0
(A) L (B) M
(C) N D) 2

28.

29,

30.

>
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A certain number of horses and an equal
number of men are going somewhere.
Half of the owners are on their horses
back while the remaining are walking
along leading their horses. If the number
of legs walking on the ground is 70, how
many horses are there ?

(A) 10 (B) 12
(C) 14 (D) 16

How many words are listed in the 1280
page dictionary ?
Statements :

I. Page 387 lists 200 words.

[l.. There are 2000 words listed under
‘A,
Question can be answered by one

of the statements alone but not by
the other.

Question can be answered by

either statement alone.

Question can be answered by using
both the statements together.

(D) Question cannot be answered by
either of the statements.

Complete the matrix :

12 | 15 | 21

8 7 | 26

2 | 41 | 34
(A) 41 (B) 60
(C) 47 (D) 51
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25.

26.

27.
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(C) AN | 3T || HS B

(D) | 3R 1| ST HSTe[e &

A
EERGRIRIE
auft = E|
e .

. O He it &
1. &ft gfifat =g 2|

Frefoiaa § 9 o Rifvea w9 e
TR ?

(A) T | SR AT

(B) et || STTERVT T B
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&R} 3R wErsTi ¥ afEd s & 59
T ST & Y 0 % farodiq &y 2 ¢

L
N|IM|[2

(A) L
(C) N

(B) M
(D) 2

28.

29,

30.

>

MKG-XI/TECHDST/1T/( FRESHERS NOW

TIEl 3 Tk w3 SR e § seHt
el I TR 8| S Hifereh 3T Hiel o dis
B afe sufl W =rem areft 2 70 8 |1 forae
e E ?
(A) 10
©C) 14

(B) 12
(D) 16

1280 Jt31 o YaehieT H fohe ¥1eq TEh o1

& ?

HU

|. 9% 387 H 200 o8 Helter Bt 2

Il A STid 2000 I1s3 HE oG B

(A)- T T 3T Th 6 G et feam
ST Hehe 8 9G8R 51 el

(B) ¥ 13T A1 A O fereft oft e g
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(C) ¥ 1 3T SHI HYAT H! Th-ATY
AT ek & ST Eehan 2

(D) Terelt oft =om & wea 1 3 & e
ST |l |

TSTE 01 |
12 15 21

8 7 26
? 41 | 34

(A) 41 (B) 60

(C) 47 (D) 51
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31. While going towards the East, Tilak
reached a crossing. He wants to go to
University. The road opposite to him
leads towards a market, the road left to

him leads towards a community park.
In which direction is the University ?

(A) East (B) West
(C) North (D) South

(32 - 36) : Read the following information and
answer the questions.

The director of the institute has announced
that six guest lectures on different areas like
Leadership, Decision Making, Quality Circles,
Motivation, Assessment Centre and Group
Discussion are to be organised once on each
day from Monday to Sunday.

Motivation should be organised immediately
after Assessment Centre. Quality circle should
be organised on Wednesday and should not
be followed by Group Discussion. Decision
making should be organised on Friday and
there should be a gap of two days between
leadership and Group Discussion. One day
there will be no lecture (Saturday is not that
day), just before that day Group Discussion
will be organised.

32. Which of the two Lectures were
organised on first and last day ?

(A) Quality Circle and Mativation
(B) Leadership and Assessment Centre

(C) Group Discussion.and Quality
Circle

(D) None of these

33. How many lectures are organised
between Motivation and Quality Circle ?

(A) 1 (B) 2
€ 3 (D) 4

34.

35.

36.

37.

38.

39.

40.

! y
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Which day will the lecture on Leadership
be held ?

(A) Tuesday

(B) Friday

(C) Wednesday
(D) None of these

On which day there is no lecture ?
(A) Tuesday

(B) Friday

(C) Wednesday

(D) None of these

When is lecture on motivation held ?
(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday

If BOMBAY is written as MYMYMY, how
will TAMILNADU be written in that code ?

(A) ALDALDALD
(B) MNUMNUMNU
(C) TIATIATIA
(D) IATIATIAT

Find the missing letters in the pattern
. cocee ¢ dot d.

(A) cccdeddd (B) ddddccce
(C) cdcdeded (D) cecedeced

Pick the wrong number in the sequence
36, 20, 12, 8, 6, 5.5, 4.5.

(A) 5.5 (B) 6
() 8 (D) 20

Complete the analogy, Ocean : Water : :
Glacier : ?

(A) Mountain
(C) Cave

(B) Snow
(D) Field
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Tt et w ©: el saream dimem @ doEr
T f& 2 |

SROT! <1 SATAH Geish 35 o i =16 8T =11 |
OIS 1 FEER i ST fefa ST =R &7k
e ==l 3o o1& A w1 =nten, | Fofg fmfo
YA S TG T =R 3R e i aqg
== o s 1 o1 1 0o oFaua BT =R | T
fo =13 samem 78 ' (wfer 9r fa T R),
39 {3 B veet ogg ==t smeifse B |

32, HIF-8 I ATAH Yga AR dfam o

e o g ?
(A) TUTeIT ¥ AR SO

(B) e SR e s

(C) HH <=t SR T[VTarel] o

(D) 3 @ IS e

SROTT 3R TUrET g o st foha samea
AR fepg mu g ?
(A) 1

(C) 3

B) 2
(D) 4

«11-

34.

35.

36.

37.

38.

39.

40.

>
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T fom g W = smfsa g
(A) HTEER “

(B) [HaAR

(C) d8amr

(D) 39 @ =IS 7

fra A s e i e ?
(A) TER

(B) HAR

(C) guar

(D) =0 4 s el

TOTT U1 ST kel BT 7
(A) TaER (B) WMaAR
(C) Hieiar (D) YR

Ife. BOMBAY &I MYMYMY foraa & o
TAMILNADU i 55} %5e H &t forart ?

(A) ALDALDALD
(B) MNUMNUMNU

(C) TIATIATIA

(D) IATIATIAT
i _ccce__c__dc_ dHT ER I
|

(A) cccdeddd (B) ddddcece

(C) cdcdeded (D) cccdeced

1 36, 20, 12, 8, 6, 5.5, 4.5 A Teld &A1
(A) 5.5 (B) 6

(C) 8 (D) 20

FHETAT 07 L, HETATR : 5T 2 TARRR ; 7
(A) U=t (B) %
(C) T (D) ©d
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41.

42.

43.

45.

46.

MKG-XI/TECHDST/1T FrresHers NOw

iii) Arithmetical and Numerical Ability

What quantity must be added to each
term of the ratio 8 : 15 so that it becomes
equalto3:57?

(A) 3 (B) 4
(C) 25 (D) none of these
X
If X2 + 6y2 = 5xy then Ve
(A) 2o0r3 (B) 2or4
(C) 1or3 (D) none of these
9 %%
Value of [E) is
27 3
(A) 277 B) 9

©) 2% o)

The largest integer which divides 105
and 315 is

(A) 315
(C) 105

(B) 15
(D) 5

A train runs at a speed of 28 kmph for
4 hours and at 30 kmph for § hours and
the remaining 48 kms in 1 hour. What
is the average speed in kmph ?

(A) 30.2 (B) 40

(C) 30 (D). none of these

Divide 36 into two _parts such that the
sum of the reciprocals is %3

(A) 25, 11
(C) 10, 16

(B) 24,12
(D) 14,22

“12-

47.

48.

49.

50.

91

When 40% of a number is added to 42,
the result is the number itself. Then, the
number is
(A) 50
(C) 70

(B) 60

(D) none of these

What percent is 7 paise of Rs. 75 ?
28 3
(A) 28/ B) 3

(@R

The selling price of an article is Rs. 3,680
and profit percentage is 15%. The cost

(D) none of these

price of the article is
(A) Rs. 2,200 (B) Rs. 3,200
(C) Rs. 3,000 (D) Rs. 4,000

In a class of 50 students, 15 do not
participate in any games and the rest
play atleast one of two games Hockey
or Kabaddi. 25 play Hockey and 20 play
Kabaddi. Find the number of students
who play both.

(A) 45
(C) 15

(B) 10
(D) 30

Which of the following is not a rational

number ?
) 2 ® -%
(D) =

C) o
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45.

46.
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iii) STETIOTE I TS TEATeHeh TRadT

HUIA 8 : 15 o Ui Ug H 91 SISl 1Y
fhag3: 58 =m ?

(A) 3 (B) 4

(C) 25 (D) ¥H ® FI TE

?Ti'\dx2+6y2=5xya;l§=

(A) 2913 (B) 2414

(C) 1713 (D) $TH § g e
%

[%] HIHA D

(R) 200 B 35

©) % (D) &,

T& e YUITeh 511 105 3R 315 i fasieig

T2

(A) 315 (B) 15

(C) 105 (D) 5

Uk el 28 .. ufa =er ' afa|

4 g 7, TR 30 for . wfq et @
5 e 37R o gY 48 for.t. wfd ser i wifa
¥ 1 ¥ Tt 2 | 6.l sfaser 6 siag
i TR 7

(A) 30.2 (B): 40

(C) 30 (D).~Z7H & =13 T
36 <! &1 I § $9 SR ST, foh ek ol
A Yo # |

(A) 25, 11 (B) 24,12

(C) 10,16 (D) 14,22

13-

47.

48.

49.

50.

oil:

STe Ush GE&A1 1 40 % 42 T Siel S §,
1 afoTy 97 31 WY Bl | 9 9 2

(A) 50 (B) 60

(C) 70 (D) 3 @ IS T

739 75 %. <1 foren wfdea 2 ?

(A) 28/ B 9s
©) e (D) ¥ @ =rE T

Ush &R o1 T g9 %. 3,680 ® i ey
TRIRTT 15% & | S 1 6% 05 B

(A) %. 2,200 (B) %. 3,200

(C) %. 3,000 (D) %. 4,000

50 ferenfelnt <t s e |, 15 forelt @@
T o el A 3R el 2l 91 Ferg <t
T Y T QA T WeAd & | 25 Biehl Terd
2, 20 Fagl Gerd © | 37 forenf¥i i wen

RGeS IRACIRC L RC GG
(A) 45 (B) 10
(C) 15 (D) 30

Freferfiad # & SH- aiwg Tl g ?

B) %

(D) =

(A) 2
(C) o
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52.

53.

54.

55.

56.

If the surface area of a sphere is 2464 cm?,
then its volume is

(A) 10276ncm3

(B) 1°g°°ncm3

5

(C) %ncm

(D) None of these

The perimeter of a semi circular plate
of diameter 14 cm is

(A) 22cm (B) 30cm

(C) 36cm (D) 40 cm

The sum of the ages of a father and
his son is 45 years. Five years ago, the
product of their ages (in years) was 124.
Their present ages are

(A) 36,9 (B) 40,5

(C) 24,155 (D) 35,10

Ms. Sonika invested Rs. 6,000 for 3 years

and received Rs. 1,080 as interest.
Then, the rate of simple interest is

(A) 7% (B) 8.5%
(C) 6% (D) 10%
Inwhat time will Rs. 4,000 at 3% simple
interest produce the same income

as Rs. 5,000 in 5'years at 4% simple
interest ?

(A) 8years
(C) 8.33 years

(B) 9years
(D) 10 years

-14-

7.

58.

59.

60.

MKG-XIUTECHDST/1T/A eresners Now

Compound interest on Rs. 18,000 in

2 years at 15% per annum interest is

(in rupees)
(A) 5,000 (B) 5,805
(C) 4,500 (D) None of these

Two men X and Y start from a common
point. X walks at 5 km per hour and
Y walks at 4 km per hour. How many
kilometers will they be apart after 3 hours

if they walk in opposite directions ?
(A) 3 kms (B) 9 kms

(C) 27:kms (D) None of these

A sum of Rs. 41 was divided among
boys and girls. Each boy gets 90 paise
and each girl gets 65 paise. If there are
altogether 50 children, find the number
of boys (B) and girls (G).

(A) B=34,G=16

(B) B=16,G =34

(€) B=25,G=25

(B) B=30,G=20

The average of 49 items is 24 . If one
more item is added to them, then the
average becomes 24.5. Then, the value
of the 501 item is
(A) 50
(C) 49

(B) 25
(D) None of these
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52

53.

54,

55.

56.

Ife T e 1 g Ehel 2464 .12
B 1 SHeR A 2

(A) 10976~ a3

10000
3

gnﬁsﬁ.
(D) = & = 7

T 14 H.47, 31 v Feiommenr avad i
qfET 8

(B) n §.1.3

(C)

(A) 2281, (B) 30%H.
(C) 36d.H. (D) 40 ¥ A,
T el ST 350 O 1 TR 1 AT 45 9 B

atel Y o, It 3 (ST H)
124 97 | 37h) SAHH 277 2

(A) 36,9 (B) 40,5

(C) 24,155 (D) 35,10

it gt 3 3 91 & foIu 5. 6,000
TersT fopam 3t =t & &9 1,080.%. T
TR, 7T WTETOT STST h1 ax e eff 7

(A) 7% (B) 8.5%
(C) 6% (D)10%

%. 4,000 3% GTUIU. TS 9T fohas gug
H I A Iedried it e %, 5,000;

5 8T § 4% HTER SIS W Hid) 7
(A) 8ad (B) 9%
(C) 8.33 a1 (D) 10a%

-15-
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58.

59.

60.
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Thg g o © (F91 #)
(A) 5,000 (B) 5,805

(D) T @ L 4

A =R X 3R Y o i fig @
A2 | X5 .. ufd oo @ S g ok
Y 4R, 9ft ga o s 8 | i e
a1e 9 fera foret dier @ 8 aft 3 faudia
femmat d=rea € 7
(A) 3Fm.

(C)-27 T .

(C) 4,500

(B) 9f&.d.
(D) ¥ & 15 Tel

®. 41 1 T TR e 3 wefeal o
fonrifra <t 18 2 | Ii% @i 1 90 4R
3Ry Fehl o 65 9 fiera € | Il
50 s7=dl € 11 &1g% (B) TR @refora (G)
&1 T |

(A) B=34,G=16

(B) B=16,G =34

(C) B=25 G=25

(D) B=30,G =20

49 HET T ET 24 B | I T T AR
He e e ST 8, 1 3fed 24.5 2 S
2 | a1 50 <ff we 1 e 2

(A) 50
(C) 49

(B) 25
(D) ¥4 9 &g TEl
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63.

64.

65.

66.

67.
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iv) Hindi Language and Comprehension

&<t T 3y
68. T gfeei ¥Is3 &

¥+ 8 = B R Eir R ?
(A) = g (B) fawl g@ig
(C) T & (D) 3rafe Gfty

frfarftag o @ “stermn’ vise w1 qHEETET
T 2l

(A) a9 (B) =

(C) 3T (D) arafe
HU TN A = ‘FrafE TEFRE-T I
21

(A) HHYRT IO (B) gra 99

(C) 3= (D) ssiife @™

‘e 7 HH H A 39 A G B
m:%

(A) HH, O (B) 0T, TYEH

(C) =i, *d (D) HeY, sl

“Tm T e SR 39 9T | T
2 |

(A) Tesiyor

(B) =afeqardsh H3l
(C) WgaTEsh TSl
(D) 4 HH

Y[, AT TEAT|
(A) Hidr =X =l
(B) Y 9&TS W Fe|
(C) T I U g
(D) & 3 9 s3I

“greft T B AR ST SigAe | @
(A) ERfiE ot 81 (B) Eelt M &
(C) BRI 3wt 81 (D) =M 3 R

69.

70.

71:

18-

(A) e, T, SE
(B) TSI, TEATST, ShHIFSTST

(C) ST, e, Ul
(D) i, i, <&
foretm w1sal =1 sieam fefau)

(37) (=)
1. 3 .
2. 3N 3. T
3. @O 3. o
4. IR 3. T
5. @Y 3. Udd
(A)LFSen 2-§3 3-3 4-31 5-3
(B) 1-8 2-31 3-3 4-3 5-%
1= 2-t 3-ar 4-3 5-&A
@) 1-31 2-3 3-3 4-3 5-3%

(B) HI&d J&deh Tgal ATl
(C) HTE | I&eh U¢ WAId 8l
(D) & | &I &l Sl &1

Siigert ferfim |
(31) =)
1. 25 3. FIEHR
2. 78 A1, g
3. 38 3. I
4, 54 3. TediE
5. 29 3. =ad
(A) 1= 231 8=% 4-35-%
(B) 1-H 2-3 3-3T 4-3 5-%
(C) 1-3 2-3 3-37 4-3 5-%
(D) 1-8 2-31 8-F 4-7 5-7
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72. Tr=fafed geed =t ot s1dt & @y

Sifed |
(s7) @)
1. Q-qAF T 1. 9 % 30 us
2. UETS T 1. gt IS
3. IS TET 3. ST AT
4. faccfizem <. =ueEh
(A) 1-31 2—-F 38— 4-%
By 1=% 2-3 3—% 4-m
(C) =% , 2=31 8—% 4~
(D) 1-33 2-% 8- 4-32
73. ‘sl e 2l
(A) T (B) fermoy
(C) IuE (D) g
74. ‘sl ERumer RN | g@aEa ¥ ‘orer
FMR?
(A) Teraranfe sius
(B) fersryoy
(C) Toran famivym
(D) TEA™m
75. Tafafea w=dt =1 39 =t &y
e
(1) (=)
1. greft 31. BHRNAT
2. Agh AT G-T AT
3. 9 3. Uar?
4. |fq 3. REmea 2
Ay 1-% 2-% B-3 4-H
(B) 1—=31 2~ 3-% 4-3
C) 1-F 2-% 3-3 4-31n
(D) 1-3 2-% 3-3F 4-37

AT

76.

T,

78.

79.

80.

! y
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Fafafad ‘o’ wm & =i | ‘@ gm
yreel ¥ Siifed|

(31) (=)
1. AT T . T
2. TYARGAI H1 AT, FHIfherl
3. AR & 3. o
4. TG H 3.
(A) 1—ef 2—8& B8-% 4=3
(B) 1~§ 2-3 B3-=3 4=
(€) 1—8 2-% @8-83 4-30
D) 1—81 2-% 3-8 44—
el T Tl e e e e |
(A) TRER T )

(B) TR 3 Tra Tt off)
(C) T i TR ot
(D)= T T

‘Saa-[, Wﬁ {El w% ?
(A) T (B) 3uE
(C) &+ (D) HHH

‘31’ TSk TSR] T |’ 9N % YIeal o 91y
Shife|

(1) (=)
1. S dh e e qader 3, i
2. S g A A TR . g
3. MNEAFD AT S 3. A
4, SR fFf AT 3. wEy
1 5201 Bl

(R) 1—3 2—-% 3-3 4-%
(B) 1=31 2-3% @3- 4-3
[€) 1=3 2-—3 33— 4-30
(D) 1~% 2@y 3—31 41z
"I TSt Sfiq T arer # fargreoy @
(A) <hIeT (B) =l

(C) Sitq (D) =
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v) English Language and Comprehension
IS T TR Y
Fill in the blanks with suitable preposition. 86. Christ his crucifiers.
. (A) forgive
81. Ishallbeglad your co-operation
o (B) forgave
in this matter.
(A) of (C) forgot
(D) forgiven
(B) for
(C) with Select the sentence which is grammatically
(D) at wrong.
82 Don't hanker wealth and 87. (A) Nobody known it better than me.
position. (B) You.may do as you please.
(A) in (C) |amso deaf that | cannot hear the
(B) after thunder.
() for (D) «He is older than he looks.
(D) by 88. (A). Each of these substance is found
in India.
83. H;sgit(;t;?;:nie:g:gs——t tig (B) Either you or he is mistaken.
: _ ' (C) Many a man does not know his own
(A) in good deeds.
(B) for A (D) Sanskrit, as well as Arabic, was
(C) on taught there.

(D) through

Add suitable question tags.
Use the correct verb and fill in the blanks.

89. | needn’t get up early tomorrow

84. The clock has five. 7.
(A) strike (A) need |
(B) struck (B) dol
(C) stricken (C) dontl
(D) stroke (D) should |
85. They have the sheep. 90. Have some more rice, ?
(A) sheared (A) doyou
(B) shorn (B) don’t you
(C) shear (C) will you
(D) shearn (D) can’tyou
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it
Change the following sentences to
affirmative.

91. Ram is not so foolish as you think.
(A) Ram is a wise person.

(B) Ram is not very wise.

(C) Ram is wiser than you think.

(D) Ram is not wiser as you think.

92. |don't possess anything else.
(A)
(B)

(C)

This is all | possess.
My possession is not much.

My possession are not better than
others.

None of the above

(D)

Complete the following sentence using correct
options.

93. The gem is too small

(A) that it can’t be seen with the naked

eyes.
(B)
(C)
(D)

to be seen with the naked eyes.
for seeing it with naked eyes.

that nobody could see it with naked
eyes.

94. As soon as the speech started,

(A) then the demonstrators rushed to

the platform.

when the demonstrators rushed to
the platform.

(B)

(C) the demonstrators rushed to the

platform.

than the demonstrators rushed to
the platform.

(D)

MKG-XI/TECHDST/1T/02

Fill in the blanks with correct idiom.

95. If you see a bull in the pasture,
(A) make yourself abundant
(B) make yourself invisible
(C) make yourself seen

(D) make yourself scarce

96. Thatwas a

the cyclist.

(A) close catch
(B) farcall

(C) close signal
(D) close call

the bus nearly hit

Pick out the word that is most nearly the same
in meaning asthe words in capitals.

97. VICARIOUSLY
(A) “loudly
(B)- daringly
(C) with deliberation
(D) by substitute

REPEAL

(A) to pay back
(B) undress
(C) say again
(D) withdrew

98.

Select the antonym of the given word.

99. EVOCATIVE
(A) eventful
(B) callous
(C) evoke
(D) charitable

ACCEDE

(A) demur
(B) proceed
(C) acquiesce
(D) recede

100.

>
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SECTION-B
Post Specific Subject — Related Questions

Which one of the following is not a
method of preserving food ?

(A) Sundrying (B) Heating
(C) Smoking (D) Salting

Why are food grains dried after harvest ?
(A) So that they reduce in size

(B) Sothatitis easy to cook 109.

(C) To increase their shelf life
(D) To not get attracted by rodents

The food industry contributes to
of the Indian GDP.

(A) 2%
(C) 6%

(B) 4%
(D) 8%

The method and technique used to
transform raw ingredients into finished
and semi-finished products is called

(A) Food technology
(B) Food processing

(C) Food science 111,

(D) None of the above

The number of molar teeth presentin a
normal adult

(A) 4
(C) 10

(B) 8
(D) . 12

Jaundice is a symptomofthe
disorder.

(A) Liver
(C) Intestine

(B) Stomach
(D) Kidney

The eye is situated in the
(A) Orbital cavity (B) Cranial cavity
(C) Oralcavity (D) Dorsal cavity

110.

112

108. The tympanic cavity comes under which

part of the ear ?

(A) Internal ear

(B) Middle ear

(C) External ear

(D) None of the above

Digestion and are the
two chief functions of the digestive
system.

(A) Respiration
(C) Excretion

(B) Absorption
(D) Metabolism

The encoding which linearly decreases
for a set period of time is

(A) Ramp function
(B) Binary encoding
(C) Step function

(D) None of the above

: is a highly dynamic process
where participants mutually exchange
and interpret linguistic and gestural
signals.

(A) Face to face communication
(B) Online communication
(C) Mass communication
(D) Group communication

People can buy new clothes rather
frequently because of

(A) Increase in income
(B) Prices of clothes
(C) Change in trend
(D) Peer influence
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W - &
e T g - aee yo

Frafefas # @ sR-a1 Si5m =) afafg
T o a9 2 7

(A) mHgar ()

(C) gl e (D) T STt
TR o WG SIS o @RI T a7 2 ?
(A) iR IFRT ATHR T2 ST

(B) MR 3 T | WeRTT ST T |

(C) ik 378 oiel THY T &1 51 T35 |
(D) ik Fciehl o S{TeRNYT T g F 3|
W 3TN At S 1

1 ANTEH LT 2|

(A) 2% (B) 4%

(C) 6% (D) 8%

Fedll it St qol ol enrd-uof geumal
H ®UARG & arent 3 e qedE
- (1 -4

(A) @I dhleh

(B) @I H&HLUT

(C) @ fagm

(D) 3IF A & FIS T

Ush 9T 9% | 3ufedm s&u ot
TR
(A) 4

(B). 8

(D): 12

diferm [EETtecaRecac -
(A) FF (B) I

(C) 3Afd (D) TR

g T fem? |

(B) =T TRt
(D) wifeds &t

(C) @I

108.

108.

110.

' 111,

112,

-21=

&A1 TR S % T 9T 3 o7l oM @ 7
(A) SATdNE FH

(B) T %M

(C) =ed =

(D) 35§ B IS e

I 377
FH 2|

(A) vIEH (B) 3rawTNYl
(C) Iedsiq (D) SUTT==

T8 F2 e 11 e 9 A wk g vag
& & fore Tt 2

(A) TuwmE
(B) fe=memit %2 wiwm
(C) U FHE
(D) 3% A A HIS T

T 37eq Tafie gfsran &
TR SfcrTet 31mam  wreTd SR - %
Geha! o1 o @ 2 |

(A) AT T

(B) I HIUT

(C) SH H=R

(D) EHE "I

T STETRA 3 g & U FR wle
ehd & Hifeh

(A) T Y F2d

(B) YS! 1 I

(C) 3R T giEds

(D) HHE 1 99

T 3 % & g
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113.

114.

115.

116.
147

118.

are a manufacturer's means
of product identification.

(A) Price

(B) Brand
(C) Quality
(D) Bar codes

Which of the following is a temporary
hard stitch ?

(A) Running stitch
(B) Back stitch

(C) Overhand stitch
(D) Even basting

is used for checking lines
and hems.

(A) Yardstick

(B) Tape measure
(C) Ruler

(D) None of the above

Running stitches are usually

inch or less in length.

(A) 1/2
(C) 1/6

(B) 1/4
(D) 1/8

The needle that has long eyes and a
blunt tip is called

(A) Crewel
(C) Tapestry

(B) . Chennile
(D) Beading

is a single unattached stitch
worked in a circle:to give an impression
of petals.

(A) Chain stitch
(B) Satin stitch
(C) Split stitch
(D) Lazy daisy stitch

119.

120.

1240

122:

123.

124.

-22.
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Which of the following is not a fastener ?
(A) Buttons

(B) Eyelets and cords

(C) Hooks and eyes

(D) Thread

The thread used to stitch an applique in
place is called

(A) All purpose sewing thread
(B) Bobbin thread
(C) Designer thread
(D) Metallic thread

is one of the oldest of all

crafts.
(A)-Applique (B) Embroidery
(C) Basting (D) Hemming

Which one of the following is not the
symptom of marasmus ?

(A) Severe growth retardation
(B) Severe muscle wasting
(C) Loss of subcutaneous fat
(D) No muscle wasting

may be called as adult rickets.
(A) Osteomalacia
(B) Follicular Hyperkeratosis
(C) Angular stomatitis
(D) Keratomalacia

Which one of the following is not due to
zinc deficiency ?

(A) Acrodermatitis Enteropathicaes
(B) Hypogeusia

(C) Hyposmia

(D) Cretinism
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125,

126.

127

128.

129,

130.

The tongue in general acutely inflamed
is called

(A) Pellagra
(B) Osteoporosis
(C) Glossitis
(D) Anemia

Thyroid and parathyroid hormones
maintain the concentration of

in blood.
(A) Minerals (B) Vitamins
(C) Calcium (D) Folic acid

Which one of the following is not a
naturally formed carbohydrate ?

(A) Pectin (B) Glucose
(C) Starch (D) Lactose

The ability to keep the body temperature
within certain limits despite changes in
the external environment is called

(A) Metabolism
(B) Thermo regulation
(C) Hydrolysis
(D) None of the above

Which of the following is the richest
source of retinol ?

(A) Fish liver oll
(B) Butter

(C) Egg yolk
(D) Cheese

Riboflavin molecule is a heterocyclic
ring of and nitrogen atoms.

(A) Oxygen
(B) Hydrogen
(C) Carbon
(D) Chlorine

131.

132.

133.

134.

113s.

136.

137.
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Goitre is caused due to deficiency of

(A) lron (B) Potassium
(C) Calcium (D) lodine

Which one of the following contains
carbon, hydrogen, oxygen and nitrogen ?
(A) Protein

(B) Fats

(C) Carbohydrates

(D) Vitamins

The main energy food sources are
(A) Sugars and fats

(B) Carbohydrates and proteins
(C) Proteins and fats

(D) Carbohydrates and fats

In-a balanced diet approximately
of total calories come from carbohydrate
source.

(A) 20— 30%
(C) 60-70%

(B) 40 -50%
(D) 80—90%

WHO stands for

(A) World Health Operations

(B) World Health Organisation
(C) World Humanity Organisation
(D) World Humanity Operation

For dietary fibre
richest source

(A) Fats
(C) Bran

is the

(B) OQils
(D) Legumes

The deficiency of essential faity acid is
known as

(A) Phrynoderma
(B) Anemia

(C) Xerophthalmia
(D) Hypoprotenemia
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139.

140.
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142.

The deficiency of causes
scurvy.

(A) Vitamin A

(B) Vitamin B

(C) VitaminC

(D) Vitamin K

Which one of the following are body
building foods ?

(A) Rice
(B) Millets
(C) Meat
(D) None of the above

Which of the following symptom of
diabetes mellitus is “sugar in urine” ?

(A) Polydypsia
(B) Polyuria

(C) Polyphagia
(D) Glycosuria

Consumption of contaminated food

causes food poisoning.
(A) Typhoid & paratyphoid
(B) Botulism

(C) Salmonella
(D) Staphylococcal

is a stirred (p state of feeling
that is the way.it appears to the
individual himself.

(A) Emotions
(B) Instincts
(C) Feelings
(D) Attitudes

143.

144,

145.

146.

147.
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Which of the following does not come
under socio-physiological needs ?

(A) The need for security

(B) The need for love and affection
(C) The need to achieve

(D) The need for rest

What prepares an individual for the
necessary adjustment and adaptation ?

(A) Perception
(B) Attitude
(C) Aearning
(D) Personality

There is an instinct of during
an emotional distress.

(A) Escape
(B) Appeal
(C) Curiosity
(D) Repulsion

The model mostly used for teaching
elevation in geography is the

(A) Scale model

(B) Relief model

(C) Simplified model

(D) Working model

is a bold illustration with little
or no writing.

(A) Flashcards
(B) Pictures
(C) Flipcharts
(D) Posters
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148. Which discussion is also known as the
round table discussion ?
(A) Panel discussion
(B) Symposium
(C) Class discussion
(D) Colloquium

149. There exists a definite relationship

between the market price of a goods
and the quantity demanded. This
relationship is called

(A) Supply schedule
(B)
(C)
(D)

Demand schedule
Demand function
Demand utility

150. is a line that defines all those

combination of goods between which
the consumer is indifferent.

(A) Indifference curve
(B) Supply curve

(C) Demand curve
(D) Costcurve

151. The full form of RTS is

(A) Regional Transit Service

(B) Recession on Trade and-Service
(C) Rate of Technical Substitution

(D) None of the above

152. Which one of the following is not among

the first writers of'seciology ?
(A) Durkheim:

(B) Don Martindale

(C) Spencer

(D) Max Weber

1563.

154.

155:

1566.

157

158.
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The book “Principles of Sociology”
published in 1877 was written by

(A) Herbert Spencer

(B) Sorokin

(C) Ginsberg

(D) Hobhouse

Who is the father of sociology ?
(A) Howard Becker

(B) Mecci

(C) Auguste Comte

(D) Aliya Chinoy

____is totality of learned behaviour
in which.a child’s personality is nurtured
and developed.

(A).Education
(B)~ Culture

(C) Society

(D) None of the above

Which one of the cultural pattern is not
found in Indian culture ?

(A) Gandhism
(B) Capitalism
(C) Joint families
(D) Agriculture

Night blindness is due to the deficiency
of

(A) Vitamin A
(C) Vitamin D

(B) Vitamin C
(D) Vitamin K

is used as an adulterant in
sugar.

(A) Rye flour
(B) Chalk powder
(C) Plaster of paris
(D) Corn flour
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159. The normal blood sugar level for an
adult (per 100 ml) is
(A) 60—-70mg
(B) 80—-100 mg
(C) 80-120 mg
(D) 120 — 140 mg

160. Drugs like antihistamines and

corticosteroids are given to treat
(A) Fever

(B) Bronchitis

(C) Allergies

(D) Vomiting

161. is a very tiny unit of length,
appropriate to measuring tiny living
creatures like bacteria.

(A) Micrometer

(B) Millimeter

(C) Nanometer

(D) Yocto

162. One Astronomical Unit (AU) is about

million kilometres.
(B) 140
(D) 160

(A) 130
(C) 150

163. is the best language to describe

relationships between variables.
(A) Algebra (B) .Math
(C) Graph (D). Physics

164. The first step intdesigning a good

experiment is to clearly state the
(A) Procedures

(B) Variables

(C) Data

(D) Hypothesis

165.

166.

167.

168.

169.

170.

.
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The freezing point of water on a
Fahrenheit scale is

(A) 31 degrees
(B) 32 degrees
(C) 33 degrees
(D) 34 degrees

Thermal energy is often measured in
(A) Kilowatt

(B) Megajoule

(C) Calorie

(D) Horsepower

Dietary deficiency is usually observed
in persons who

(A) Do not consume any greens

(B) Consume too much greens

(C) Do not consume any animal food
(D) Consume too much animal food

The deficiency of folic acid is not the
cause of

(A) Megaloblastic anemia
(B) Macrocytic anemia

(C) Malabsorption syndrome
(D) Marasmus syndrome

The dietary calcium absorption in a
human body is

(A) 10 —20%
(C) 35-40%

(B) 20— 30%
(D) 40 -45%

is a major component of pigment
haemoglobin in red blood cells.

(A) Zinc

(B) Magnesium
(C) Potassium
(D) Sodium
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172

173.

174.

175.

176.

The definition, “Extension programme
is a statement of situation, objectives,
problems and solutions” is given by

(A) Lawrence
(B) Kelsey and Hearne
(C) Forest and Baker
(D) Leagans

Extension programme planning is not
a/an process.

(A) Educational (B) Continuous
(C) Automated (D) Co-ordinating

Management functions can be
categorised using the acronym

(A) PSDCOORB
(8) PDCORBSO
(C) POSDCORB
(D) PCORBSDO

Which of the following is not an abundant
element in living organisms ?

(A) Oxygen (B) Carbon
(C) Nitrogen (D) Helium

Peptide Chains of more than 12 and less
than about 20 amino acid residues are
usually referred to as

(A) Polypeptide
(B) Carrier peptide
(C) Oligopeptide
(D) Decapeptide

Amyloidoses include which one of the
following diseases ?

(A) High blood pressure
(B) Diarrhoea

(C) Alzheimer's

(D) Mumps

-32-
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178.

{79

180.

181.
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is considered ‘energy curi
of the living cells.

(A) RNA
(C) DNA

(B) ATP
(D) Lysosome

are commonly used as
respiratory substrates.

(A) Carbohydrates
(B) Organic Acids
(C) Protein

(D) Fats

The following configuration makes up
CHO

|
HO-C-H

I
CH,OH

(A) L-Alanine
(B) D-Glyceraldehyde
(C) L-Glyceraldehyde
(D) D-Alanine

What is considered the ultimate
resource ?

(A) Human Resource
(B) Money

(C) Forest resource
(D) Mineral resource

deals with models and Economy’s
resource use.

(A) Reserve Bank of India
(B) Resource Economics
(C) Central Government
(D) Political Economics
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182. The use of one of these will help in

183.

184.

185.

186.

sustainable development.

(A) Renewable resources

(B) Semi-renewable resources
(C) Non-renewable resources
(D) None of the above

WPE stands for

(A) Waste Potential Effeciency
(B) Waste Potential Estimates
(C) Waste Potential Energy
(D) Waste Potential Entropy

Which of the following is not an important
type of dynamics during interaction ?

(A) Behavioral dynamics
(B) Societal dynamics
(C) Individual dynamics
(D) Physical dynamics

refers to species-specific
changes.

(A) Development
(B) Growth

(C) Evolution
(D) Maturation

is the immediate environment
or setting in which the individual lives.

(A) Microsystem
(B) Mesosystem
(C) Exosystem

(D) Macrosystem

187.

188.

189.

190.

1Rl
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The period from conception to birth is
known as

(A) Infancy period

(B) Prenatal period
(C) Postnatal period
(D) Neonatal period

The age two to seven years of a child
comes under which of the following
stages ?

(A) Sensory motor

(B) Concrete operational

(C) (Formal operational

(D). Pre-operational

The close emotional bond of affection
that develop between infants and their
parents is called

(A) Love (B) Attachment
(C) Rapport (D) Trust

is commonly defined as the
stage of life that begins on the onset of

puberty.

(A) Youth

(B) Adolescence
(C) Young adults
(D) Late childhood

One of the following principle is not used
as an instructional design model and
evaluation grid to judge the quality of a
pedagogical design.

(A) The demonstration principle

(B) The application principle

(C) The task centered principle

(D) The Quality principle
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(B) Waste Potential Estimates
(C) Waste Potential Energy
(D) Waste Potential Entropy

frforftad ° & s -an s==nfsran % e
TRl 1 T FETEqUl IR e @ 7

(A) TSRS Tfcrehl

(B) TmTfSreR Tideh

(C) SHafares Tfereht

(D) sifcrah Tifceht

: ST - fafyrse ufadi @ defilfa
|
(A) o
(B) I
(C) =i foremre
(D) uftgsaar
T W ARt e o
ey wWar g |
(A) GEIITeA
(B) HEIYUTTAT
(C) =T vurredt
(D) =S

-35-

187.

188.

189.

190.

191.

>

FRESHERS NOW

MKG-XI/TECHDST/1T/02

YR A S as Ay
FEATd 2 |

(A) Ry srafy

(B) &4 Jd 993

(C) JHE U¥E THY

(D) &SI Aafy

Teh, STk ol & & |1 981 ehl 371 Fferiad
7| for =N 7 ATt & 7

(A) Had S

(B) 31 IR=ITETHTHS

(C) 2Nu=Titeh Ii=TeHTeHS

(D) gd-uRETeATeH®

gy 37 3wk Tran- T o <ft= el B9
TN FHeR MTEHTeHeh s ETIG|

2
(A) S|
(C) wfsaan

(B) @™
(D) fovama

1 HHEIG: 0TS IRS aH
% TTY Y[E B a1l Sfiad o S0 6§ H
aftarfya foman strar 21

(A) =

(B) Tersmiuraren
(C) Fa1=a%=h

(D) W sEu

frforfiga # 9 v frgia w R smef
fesmsa ) o A e & e T
Fcmenes fesméa aieet of qoui e &
9 ¥ WY T el

(A) wesia fagia

(B) gz fergia

(C) FHehfza frgm

(D) TorEE fagid



https://www.freshersnow.com

i r -

192:

193.

194.

195.

196.

enables a teacher to know
the motivational levels, abilities, attitude
and intelligence of learners.

(A) Clinical psychology
(B) Educational psychology
(C) Experimental psychology
(D) Health psychology

The theory by emphasised
significance of categorisation in
learning.

(A) Levuygotsky (B) Bandura
(C) Bruner (D) Piaget

One of the following does not belong to
the types of discovery learning.

(A) Experiments

(B) Exploration

(C) Problem based learning
(D) Imitation

Identify the factor which determines the
achievement of desired goals aimed
in the learning process.

(A) Peerinfluence

(B) Psychological individual differences
(C) Economic status

(D) None of the above

memory stores all significant
events that lets'.us retain the meaning
of words andthe physical skills that we
have learned.

(A) Short term memory
(B) Long term memory
(C) Sensory memory
(D) Explicit memory
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197. Learning thatinvolves the use of words,
language we speak and write and the
communication devices we use is
called

(A) Verbal learning

(B) Discrimination learning
(C) Cognition learning
(D) Sensory learning

198. learning states objectives

in an-organised and structured form and
hence'is always intentional.

(A). Formal
(B) Informal
(C) Individual
(D) Group

{/199. is the branch of psychology

that studies the processes of sensing,
perceiving, learning and thinking about
the world.

(A) Health Psychology

(B) Experimental Psychology
(C) Educational Psychology
(D) Developmental Psychology

200. The learning which includes concepts,

principles and problem solving is
called

(A) Sensory learning
(B) Cognition learning
(C) Discrimination learning

(D) Motor learning
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12.
13.

14.

15.

1T

18.

19.

MKG-XITECHDST/ rresiers NOW

IMPORTANT INSTRUCTIONS TO CANDIDATES

IRHTEAN < o7 FEwergot e

This booklet contains 40 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each

case, you are required to select the one that

correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate circle
against each question. The circle should
be shaded completely without leaving any
space. The correct method of shading is given
below.

Wrong Method || Wrong Method: || Wrong Method || Correct Method]

ORXR0QIOVO0I0®OOI0eO O

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to edch
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D:lfyou
blacken (®) more than one circle against any one
question, the answer will be treated as wrong.
If you wish to cancel any answer;-you should
completely erase that black mark‘in-the circle in
the Answer-Sheet, and then blacken the circle
of revised response.

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for roughwork given in the Question
Booklet only and.not'en the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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18

14.

15:

16.

17

18.

19
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Go through instructions given in Page No. 1 (Facing Page)
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